19.

20.

21.

22.

23.

24.

.Find the value of Lil['_'"_M} :

(s2 +2s+ 2)2

As+1 '
I [ﬁ} -6 ELInLIE ST s.
s +2s ‘

PART C — (3 x 10 = 30 marks)
Answ’ex" any THREE questions.
éolve : (D2 +1)y=x"cosx.
&iés: (D® +1)y =x* cosx.
Solve : (x*D* = 2xD — 4)y =x?+2logx.

Eés : (x2D? - 2xD - )y= 22+ 2logx.

d2 ’
Solve : i—‘%’-+y‘=tanx.
’ Cx"‘ I B
e : = Z+,y=tanx.
= vat

Solve : (y? +y2)dx + (2% + zx)dy + (y2 —xy)dz =0.
Eiés (»? + yz)dx + (2% + 2x)dy + (y* —xy)dz =0
Solve : y"-3y'+2 y = sint; ¥(0)=0; y'(0)=-1.
&igs . y'-3y'+2y = sint; y(0)=0; y'(0) =-1.

4 72005/SAMS3A/
TAB3A

—

-—

NOVEMBER 2017

72005/SAM3A/
' TAB3A.

Time : Three hours

(7]

Maximum : 75 mérks
PART-A — (10 x 2 = 20 marks)

Answer any TEN questions.

" Solvé: y=psinp+cosp.

8iés: y=psinp+cosp.

* Solve : y=xp+£.
' D

e R a .
,é‘rres&s_:yéxp-r;. |
Solve : (D® —6D+9)y=0.
Siés: (D - 6D +9)y=0,
Find the P.I. for (D?-6D+9)y = €.
(D*-6D+9)y=¢e*-en PI WIS &S,
Find he P.i for (D? +D+1)y =x.
(D* + D+1)y = x -a P.1. enwié srams.
Find the P.I. for (D* +3D+2)y=sinx .

(D? +3D +2) y =sinx - en P.I. eowis snétns.

] B.sc (Mt ) - S?waﬂ ~ FQuakions .



10.

11,

12.

Form the PDE by ehmmatmg a and b from
z=ax+by+a’+b%:. = -

z=ax+by+a® +b’ UE]GS]@E@ a wpmb beow ﬁ;&é]

! PDE-aw 2 (HEUMEHEGS.

Form the PDE by el-iminatin'g' f ﬁ'om
z=f(x2+y% +z2 ) = :

z=f(x®+y +zz) aﬂ@pg f -eows ﬁé;eﬁi jsu@.Lb.
PDE-aw a@mrra;@a; ' T
Find L[t].

L[t] -enens snawms.

Find L(sin 2t]l.

L [sin 2t] -en infllienLis srems.

' Find L-l[i-]

(s+2)8

L'l[( 1(;)6 } -G SIS
sS4+ . .

Find L-l[%] .
S

L”ll: 8 ] -G SIS,

s4
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13. .

14.

15.

16.

17.

18,

PART B — (5 x 5.= 25 marks)
Answér'any FIVE questions.
Solve : x*(y~ px) = yp*.

Sitss: x°(y = px) = yp*.

.Solve . (D? -D-2)y=e** +¢".

Siise: (D22 D-2)y=e® +¢°.
Solve : (y +z)dx +(z+%)dy+(x +y)dz=0.
Sitbs: (y+z)dx+(z+x)dy+(x+y)dz=0.
Solve : p® +g?=1.
8rés: p* +q® =1.
Solve : p?2% +¢% =1..
Siés: pPz+q° =1.
Find L[—-‘“’m _e_m} |
=

o3t _ o2t
L S Wllenend smetns.
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